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)  Complete the following number lines by filling in the Correct
Numbers-
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b) Write the answers in words
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13 Number chart (300-1000)

a) Complete the number cha-t.
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Q) Classify the top numbers info odd and even numpers.
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) What is the place value of the following
underlined numbers:

This allows us fo conclude that the value of the place value indicates the
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b) What is the numerical values of the following underlined numbers:
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a) Complete the number sentences as g
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b) Write the answers to the sums and explain in your own words what you

observed.

c) True (f) of False (f):
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b) Do these operations with money as quick as you can.
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c) Complete the following operations. Look at the examples!
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